Time Allowed ; 9 Hours]
1.

In whicl year Swiss envoy WP,
Blazor puy up a sign board, which
furnmlly and officinlly, declared
Khajjinr ng ‘Mini Switzerland® ?
(A) 7th July, 1992
B) 1t Oct., 1975
(C) 10th March, 1966
D) 8th June, 1990
Match Liat-] and List-II and select
t}.m correct answor from the codes
given bhelow
List-1
()  Kiara-dun Valley
(i) Balh Valley
(iii)  Kangra Valley
(iv) Bara Bhangal Valley
List-IT
(@)  Dhauladhar and Shivalik
Range

(b)  Markanda and Dharti Ranges
() Shimla Ridge and Shivalik

Hillg

(d) Dhauladhar and Pir Panjal
Ranges

Codes :

@ G Gi) ()
Ay b)) d (@ (©
B B) € (@ @
© B @ @
M @ ) B @

GS-I—A

3.

GENERAL STUDIES

[Maximum Marks : 200

Which of the following Himalayan
Zone has the highest 36+ percentage

of total geographical area of H,P, ?
(A) Trans Himalayan Zono

(B) Sub-Himalayan Zone

(C) Lower Himalayan Zone

(D) Higher Himalayan Zone

‘Chola and Dora’ are the popular
traditional dress of which of the

following tribes ?
(A) Swangla

(B) Kinnaura
(C) Gaddi

(D) Khampa

RIS ECl2 O E

T ;2 vy
1. Tsedts & vy wop, sy 4 form
o uE wg A wf w1 mfsm
w At i fiarasrete
M fam
(A) 7 7, 1999
(B) 1 @z, 1975
(©) 10 Wi, 1966
M) 8 37, 1990
2. T A1 fam A
A e me w7 i A
aw Aforg
-1
(i) w73
(i) =7m 98
(i) FimEy Ty
(iv) @Z s
-1
(@) hemm i fenfas o
) wET An o qae
() fomm whagit o foenfas
A
@ m G- gEe
HT ¢
0 ) G (Gv)
w ®» @ @ ©
B ® © @ @
©c b @ © @
D @ © 6 @
GS-I—A

Iyt . 200

frafafaa # @ few. & 4@ -y w
waifu® 36+ wivm fra fommd

Lol A

(A) zia feareft dm
(B) m-fimerd aa
() fae1 fomrrd i
() =7 fowrad 42

hen A gm’ fae § 4 tEm g

1 refer ofom 4 7
(A) =TI

(B) fr=tm

© w4

D) ==

P.T.O.
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given below :
List-I
@  Swangla

@) Gaddi

(i) Khampa
() Pangwal
List-IT
(@  Pith-Chuk or Chori
®) ‘Phaktum or Phanktum
()  Jhanjrara
(d) Rusa-te-byah
Codes :
@ @ G G
@A @ @@ o6 @
B @ 6 © @
€ @ @ & ©
D @ & ©© @

GS-1I—-A

5. Match List-I and List-II and select | 6.

the correct answer from the codes

In ‘Vayu Purana’, the following tribe
is said to be the inhabitants of

‘Mahand Mountains’ ?
(A) Pangwal

(B) Lahaulas

(C) Gaddi

(D) Kinnauras

7. Out of total 55673 sq. km.

geographical area of H.P., what is
the area, which falls in scheduled :

area ?

(A) 23655 sq. km.
(B) 12970 sq. km.
(C) 17755 sq. km.
(D) 32555 sq. km.

Which is the earliest specimen of

‘Nagara design’ found in H.P. ?
(A)'Bajaur;a Temple

(B) Bajjnatil Temple

(C) Jwala Mukhi Temple

(D) Masrur Temple

41

i e S

5. H-1 3R g=-11 =01 foemm S e | 6.

R M = wEm wwd s

-1
@ =% @ b
(b) HEHA A HHIA
(@

d) TE-3-=1E

® G G @
@ @ © ®
® @ 6 © @
© @ @ ® ©
D @ ® © @

GS-I—A

- ~wa

Here TEa & At afl ¥ 2

targ g’ H 1 Y e seenfa !
E
(A) TS %

-
(B) wrdren ‘

©) =R
o) =

few. @ fo Jdfas & 55673 =t
. o fepae s oTagfa & | o
%2

(A) 23655 =i fait.
(ﬁ) 12970 = fit.
(C) 17755 =i T
D) 32555 =t Tt

ey # TR A’ T TR SR
A At ?

(&) == Hf

®) asnmﬁﬁ
(C) e, T
(D) wEe TR

P.T
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10.

11. The Govt. of H.P. has changed the
name of ‘Kanya Sashaktikaran and
Kalyan Board Himachal Pradesh’ to
that of :

(A) Mahila Kalyan Board

(B) Mahila Sashaktikaran Board,

(C) Saksham Gudia Board, H.P.
(D) Saksham Kanya Board of H.P.

9. The ‘Basholi School of Painting’

came into prominence from the time
of :

(A) Raja Kirpal Pal
(B) Raja Amrit Pal
(C) Raja Udai Singh
(D) Raja Goverdhan Chand

Which of the following national
parks/sanctuaries of H.P. occupies
1171 sq. km. of area ?

(A) Pin Valley National Park

(B) The Great Himalayan National
Park

(C) Renuka Sanctury

(D) Manali Sanctury

HP.

™

(o d——

13.

14.

GS-I—A : 6

9. The ston® inscriptions found in th,
12.

Chamba region have mostly beep

written in which script ? |

(A) Bhotia or ﬂcm?:

(B) Sharda and Tankri

©) Kharoshti and Brahmi

(D) Nagri and Kutil

Who was the signatory for East
India Company in the Treaty of
Sugauli ?

(A) Major Mcleod

(B) Lt. Col. Thompson

(C) Lt. Col. Paris Bradshaw

(D) Major General David O,ngmu.rﬁv~

‘Lanji’, ‘Saro’ and ‘Rajnagar’ in
Chamba district are the centres for

development of the wo:oém:m :
(A) Apple .

(B) Kinnoo

(C) Olive

(D) Apricot

G R S TP N T A A

9.

fra TTEE @ ARt R S
faoren oo wenfa w I ?

(A) TS Fu A
(B) TS a9
(C) TN 3u e

(D) T TaYH =%

10. = 3 A f5E Tg ueh SAgan AR

w1 HE dwd 1171 o fE. ® 2
(a) fm 3t T =

®) T ¥ feem TE U

(©) XA AR

(D) TR ﬁﬁzﬂ

11. Wﬂmﬂﬁﬂﬁﬂ:wﬂﬁﬂwaﬂs
T wEm A ® T Skest @

@ % ?

(A) wfemn weam 0é

@B) few. wfeen wvfwe <2
©) fex. Tawm e 9

(D) fev. Ta™ %=1 N

GS-I—A

T m———

12. e &7 # oA v afwera sAfusmat
g fafq # @ T E 2

A) stfen = Tt
(B) W@ R AFA
() == SR s
(D) T iR Hfea

13. el = € # f= ifem el
IR ¥ fre wwmeR fee A 2

(A) TR TERlS
(B) <. ﬂm ATIEA

©) 3. ww A el

D) #. oo Mo R

14. = & ‘esit’, ‘T R TR e

3 fawm ¥ wifE &= ¥ -
(A) &

®) &

(C) S

(D) Forh
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15. What amount of hydro-power has
been harnessed out of 27436 MW

identified potential in H.P. ?

(A) 9230 MW

(B) 8941 MW
(C) 10519 MW
(D) 12415 MW

16. Under which scheme all women in

the age group of 10 to 75 years,

living below povetry line are covered,
in case of their death or disability ?

(A) Matri Shakti Bima Yojna

(B) Janani Suraksha Yojna

(C) Beti Bachao Yojna

(D) P.M. Matri Vandana Yojna
17. Which of the wo:oc.s.nm has been

declared as public service by State

Govt. under H.P. Public Service
Guarantee Act, 2011 ?

(A) Kisan Credit Card

(B) Organic Farming

(C) Soil Testing

(D) Seed Certification Programme

S-I—A

18. Arrange the following with j
correct combination and according],

give answer as per codes given

below :

List-I
Gaiety Theatre
Kalka-Shimla Railway

)
@)
(i) Satyakam
(v) Old Shimla Bank
List-II

(@) Samual Evans Stokes -
(6) Mortimer Durand

(¢ H.S. Harrington
(d) Henry Irwin

(¢) Messors Barrett & Co.

Codes :.
@) @ @) Gv)
(A) | @ @ (@ (e
B ® @ ©
© @ © @ ©
® @ © @ O

15. fex. ¥ ST TA-faselt w1 oFA | 18, frefefen BT W A § omafed m
27436 T g # | Hw A = frre it AR fET Y w7 & sEm : m
qe R feen TR O? T R m
(A) 9230 TmETR 3~

-1 O
~(B) 8941 AT o T W
C) 10519 AMErRE =]
(©) 105 (i) hreE-REen W@ L
(D) 12415 HMER c
, (i) TeaHH S
16. few. # form dem & omrla T e n
F 9 ® @ 10 ¥ 75 T4 N wfgnei vy e T &
F TR ST TN GG T A qei-11
e ? .
R (@) e TH e
(A) WguIiea & A
() wfEm gos
(B) S FRE AR
() TAETH. e
(C) <& F=ill g N
: @ 0
(D) WETEEN g ST
Nz 1 FEA
17, fre i Q. feee, T8 wER A () FEE AR wE
geeE e T aAfufE, 2011 T ¢
% ora TF WS da O G G @
fem % ? .
@ @ © @ ©
(A) frem wfse o
; ® ® @ @ (d)
(B) Sfaw ef
" © @ © @ (e
(© fred = " FEH
e
. (D) ¥ i cou AR E R o @ ©
i 9 P.T.
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19. ‘Black Nude’, ‘Sitting Nude’ and
‘Young Girls’ are some of the famous

works of which artist ?
(A) Amrita Pritam
(B) Amrita Shergil
(C) Norah Richards
(D) Sobha Singh

20. The important decision to invade
Afghanistan in 1938 and after four
years the same decision was |
criticised at Shimla by the British

was taken in the :
(A) Kennedy House
(B) Auckland House
(C) U.S. Club

(D) The Revenswood

S-I—A 10

21. Who h

22.

as been awarded 2018

Einstein Prize ?

(A) Abhay Ashtekar

(B) Peter Bergmanan

(C) John Wheelar

(D) William Zo.abmﬂm

.m.Ulmrﬂ. software is Hmcsﬁ&mm. to

facilitate :

(A) Prime Minister to monitor
implementation of policies

(B) To help railway minister to
keep track of vc:oecwmn% of

trains
(C) To help Home Minister to

watch law and order problems

(D) To help soldiers on border for

night vision

19. ‘= =g, ‘fafim =gz’ o tm e’ | 21, 2018 T EEIET TR R fren 2

frm fagm =1 wfag sfeal ® 2 (A) Ia FEFL .,

Scanned by CamScanner

(A) e (B) drex =HEA

(B) s I (€) M =R

(C) e f=dm (D) fafemm Frdm

D) @ fez 92, ‘¥ gfe’ WwAW = P &=

20. ¥ 1938 # JIFTTEE H Aad H gfawm ¥ & ™ ¥ 2

fofa 3R i =R o ave 36 fo (A) WHR TR g Aee @ @ R

e N A e € few W AR @ W’

e - 7 @) @ T T W * T T
(A) HIE THE TE |

(B) 3fFcts T (C) T T gra R S W R
(C) 3TE. T «

D) BaE D) =i ga §m W W g

11 P.
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23. Which of th following won the

Fields Meda] i, Mathematics ?
A) Akshay Venkatesh

(B) Caucher Birkar

(C) Peter Scholze

D) All of the above

24. In 2018, which of the following

has been awarded Nobel Prize in
Chemistry ?

(A) George Smith
(B) Frances Arnold
(C) Greg Winter

(D) All of the above

25. Who is appointed as Chairman,

Competition Commission of India ?
(A) Arvind Saxena

(B) Ashok 'Kumar Gupta

(C) S.S. Deswal

(D) Sanjay Mishra

GS-1—A 12

26.

27.

Which state in India was given
FAO's Future Policy Award, 2014

for its 100% organic state ?

' (A) Goa

(B) Assam
(C) Sikkim
(D) Tripura
What is QUAD ?

(A) It is an informal mecharism
between India, USA, Australia
and Japan for the security in

Pacific Region.

(B) It is formal organisation of

India,

Australia for Global Security.

(C) It is quadrilateral security |

dialogue between India, USA,

Vietnam and Japan.

(D) None of the above

USA, Japan and.

23. ﬁqﬁ%mmmvﬁwﬂmm 2. W@ @ fFE T W 190 wfam

firen 2 SfaFd & T = @ F

() a1 wew TS g 2018 F wfrs iy Ty
®) Fr fom e 2
(€) = wiem (A) e
©) S Wi (B) S
24, 2018ﬁwmm=haawﬁq @f“ﬁm
i ¥ R T 2 D) B
(a) st fema 27. ‘HIATE. ¥ TuH w A ¥ 7
(B) WY 3rfies (A) 9% WA, W, sfern
© ¥ fix WA % T 8 R WA ¥
T IS qe ¥
St (B) 98 VIR, mftw1, WUW w
25. 9RdE wierersl omr W ety R s ) fra wan ¥
R A st 9 ¥
() e e (€) ¥& W@, wfem, foamm w
(B) RIF FFR T TR H W agiE W aw
(C) TH.TE. ¥ H
D) W fasm ®) IEw # A B 7@
GS-1-A : 13 P.T.0.
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80. Where is the Nongkrem dance

GS-I—A

28. What is Blue economy ?

(A) It is the high growth rate

economy

(B) It is sustainable use of ocean

resources for economic growth
(C) 1t is low growth rate economy

(D) It is economy not sustainable

for longer period

,Nw. ASI is undertaking renovation of

which three temple groups in

Vietnam ?

(A) Angkor Wat
(B) My Son Temple
(C) Ananda Temple

(D) To Prohm Temple

festival being celebrated ?
(A) Mizoram |
(B) Tripura

© g.mmr&m.ﬁ

(D) Arunachal Pradesh

33.

14

32.

31. Who has been awarded 2018

Indira Gandhi Prize for 1omoo.

Disarmament and Development 9
(A) Manmohan Singh 4

) UN High Commission for
Hﬂmﬁcmﬂmm AczmowV

NOV,T&E: Space  Researc,
Organisation (ISRO)
(D) Centre for Science angq

Environment (CSE)

What is the theme of H:ﬂmgmaoum_
Energy Agency’s publication —
World Energy Outlook, 2018 ?

(A) Nuclear energy
(B) Solar energy
(C) Electricity

(D) Hydropower

What is the name of first
microprocessor developed by IIT,

Madras ?
(A) Shakti
(B) Speed
(C) Atal
(D) Bharat

L

28. 'elt’ sidemeEwen ¥ F s § 2

(A) 7% 3o famm <X el sreferen
¥

(B) % R WAl % Waq WA @
forrre arel ardemaEn ¥

(C) 7% fr= faww X @l sdemaen
Tl

(D) = sfueh wwg o 7 fepd aredt
HderaE ¥

29. WNEE qIMed &l (TTH.IE.)
o % fow W & @9 of<d &
FerRT it el o w ¥ ?

(A) =R =
(B) T w
(C) sr=1 W
(D) 2 9ed "
30. FTEHW T SH FE T I E ?
(A) el
B frgn
(C) Fered

W

T AT AT TR R S ) el BT SR, N RS

31. 2018 1 Wi, Frehwm w fawm

¥ 3a Ml A R weE e
T ?

(A) T fde

(B) GgF T YR ¥ e
(F.TA.TAH.3M.)

(C) W AN ATHYUM HSA
()
(D) faam @ w@Em % (M@

32. ST Tl WA & AW — ‘o
e sdheggw 2018' &1 fawg ==
%2

(A) T Sl
(B) ¥R =i
(C) forwreh

(D) wHfaSTer

33, Wt e G (om.emdA.)
TR N fasfid AEmERER #
™ E ?

(A) TR
(B) wie

(C) 3

(D) STEUEE WY

 GS-I—A

D) W

15 P.T.0.
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ﬂ 34. Recently USA announced its
ﬂ withdrawal from INF treaty with
& Russia. When was this treaty

signed ?
A) 1977

(B) 1987

(C) 1981

D) 1975
35. What do you mean by Mariculture ?

(A) It is a specialized branch of

Aquaculture

(B) It involves cultivation of

massive plants and animals

(C) It is related to water bodies

having tidal influences
(D) All of the above

36. Which are the projects selected by
World Economic Forum to be
launched as Centre for Fourth

Industrial Revolution in India ?
(A) Drones

(B) Blockchain

(C) Artificial Intelligence

(D) All of the above

I—A 16

37. Whereis Banni Grassland situateq »

(A) Gujarat
(B) Maharashtra
©) Rajasthan
(D) Himachal Pradesh
38. _7?35 List-I and List-II and give
correct answer with the help of codeg
given below :
List-I
(Country)

(i) France

@) TUSA
(i) South Africa
@v) UK

List-II

(Time Zones)
1 11
2 12
3 09
(4) 02
Codes :

@) @ G ()
w0 e o @
B @B @ 2 @
e @ O @ @
™ @ 3 @ @

| ©
c
B=
e S
84, wuH H ifem A ww @ we gl | 7. TN TN W FW A femm ¥ 2 m
ITE.TATF. Wh @ 3rem o T haen () T P
fFm %1 o% wfy wa @ @ 2 (B) We= < C
@A) 1977 (©) TTEET . .ﬂw 2
. D) fea=a v .m’ w
(C) 1981 = TEEa A T OIW A, - ﬂ. g
-1 ﬂ n
(D) 1975 s wﬁ
'35. WA B A U TN A ¥ ? . ( Um
@ W -
>
MR T EEEE) @ e 3
hits @) < s ,_
(B) & Wi i wH vt @ T (iv) T
q TG T =11
(C) 9% ¥ v« WAl ¥ T=hud ¥ = Fa A=)
=R ¥ wwfea ¥ G 1
D) 3wd= |t @ 12
36. forwa s = g i g S @ 09
wf & 3 tg B A @ . 02
0 T 2 el :
@ @ G G
@A) 3w .
@ o @ QO O
(B) wdfea ® & W @ W
(©) Fm A © @ QO @ ®
(D) S wfl m @ @ @ O
GS-1—A 11 s
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39. UN observes which day as

International Rural Women's Day ?
(A) 8 March =
(B) 2 October

(C) 15 October

(D) 10 December

40. “Bathukamma” festival is related

41.

to :

(A) Itis floral festival of Telangana

(B) New South Wales Parliament,

Sydney celebrated this for the
first time

(C) It means — ‘Mother Goddess

come Alive’
(D) All of the above

Who propounded the idea of
Partyless democracy ?

(A) Jawaharlal Nehru
(B} Veer Savarkar
(C) Indira Gandhi

(D) Jai Prakash Narayan

GS-I—A : 18

42, By which Actan element of electiop
: was introduced in India for the first

time ?
(A) Indian Council Act, 1861

(B) Indian Council Act, 1892
(C) Government of India Act, 1902
(D) Government of India Act, 1919

43. Match the items 5, List-I with
List-II and select the correct answep
from the codes given below :

List-I -
(@) Drain of wealth theory
.(b) Swaraj as my birth a,m:n
(¢) Separate Communal electorate
(d) Entry into legislation
List-I1
(1) C.R. Das
(2) Moh. Ali E:ﬁmr
(3) B.G. Tilak
4)  Dadabhai Naoroji
(5) Subhash Chandra Bose
Codes :
@ ® © @
A @ B e ©
B & @ O @
€ @ 3 @ @ -
O @ 6 B @

(C) 15 IR
(D) 10 fegwr

40. ‘MYEM' IET frwd watyg T 2
(A) ﬁﬂjﬁd@.iﬁmw
B) Aﬁaﬁ%@ﬁ...ﬂﬁwm@ﬂu

R {1

(C) T a1dl & — ‘Hf 26t W@ |
(D) S @it

41. TRy @ faer feed i 2
(A) SEEEE Tew
(B) &R W&t
(C) 3T ek

(D) V@ WHE TEY

GS-I—A

19

42.

43.

frq sfuftan & o=rla wem am wi
# gT@ ® T FOAOY g ?

(A) s W sfufam, 1861
(B) wdra ufteg sifufrm, 1892
(C) wra &R afufm, 1902
(D) wRa &R afuftam, 1919

-1 wE gE-11 1 frem = feg o
FE A 7@ IW Y :

-1
(@ i frrre =1 fag=
b e A 9 fag afuen
(c) Yu= IR gE qia
(d) faurmea # waw

TEi-11
(1) H.3W. T
@ 7. st f =
(3 =i foow
@ TR AR
G) FIEES I
R :

@ b ©

@a @ G @ @
@ @ @ @O @
e @ & @ W
™ @ G & W

P.T.O.
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44. Match List-I with List-II and
identify the correct answer from the
codes given below :

List-T
(I Formation of  Village
Panchayat
(ID) Uniform Civil Code

(I Agriculture and Animal

Husbandry

(IV) Separation of Judiciary from

Executive
List-II

(1)  Article 50

@)  Article 48

(3)  Article 40

(4)  Article 44

Codes :

O a an av
@ @& @ @ o
® @ ©® @ o
© @ ® o
O @ @ @

GS-I—A 20

45. What constitute definition of Money,

46.

47.

Bill under Article 110 of Indjay,
Constitution ?

(A) The imposition, abolition,
alternation in regulation of
any tax

(B) The regulation of borrowings of
money

(C) The appropriation of money oyt
of the consolidated fund of
India

(D) All of the above

Under which Article of Indiap
Constitution amendment procesg
has been given ?

(A) 361
(B) 364
(C) 368
(D) 370

Which of the following Constitutional
Amendment Act restricted the size

. of the Council of Ministers to 15 per

cent of the total members of the Lok
Sabha ?

(A) 89th Constitutional Amendment
Act, 2001

(B) 90th Constitutional Amendment
Act, 2002

(C) 91st Constitutional Amendment
Act, 2003

(D) 93rd Constitutional Amendment
Act, 2003

e W AT

44, -1 W -1 1 oot R | 46

o AW IR A .
-1

O W Y= W e

an wH sER wf

a1 Ff @ ayEen

GS-1—A

TR N aa

R T F SRR 110 & s
v faw & orwia R fonfum fe
w1 wE ¥ ?

(A) Frd = EEeR | T, T
T I

(B) ¥R ® IUW W FOfEE wwn
(€) W %t Hiea ffa A wa v =

fafam =
(IV) =Euifas w1 sHwias A
D) SwEF Wi
JUFHI .
46, W Gfeum & {59 o=e #
H-1L TR WEE W I 2
(1) Ig=R 50 () 361
(2) TR 48 (B) 364
® Bﬁfﬁ' i (©) 368
D) 370
@) TR 44 ; .
47. T # Qs Tt SR s
e : WiH-ufoR W TS S Qb W
O an an av w@ IS H 15 TR T @ W A6
T E ?
@a @ @ @ O . .
. (A) 8991 wifawmiiE HRER FFH, 2001
B & k@b (B) 90 Wifamfr THH F, 2002
© @ @& @O @ (C) 915 TifauE SRR T, 2003
™ O @ © @

(D) 93 Wiawis TAR HF, 2003

21 P.T.O.

Scanned by CamScanner



48. What is the security deposit amount

49.

50.

T T TRRSNER TR SNV P NN o4 7 RN L. AR W DN S

which a candidate contests election
for the posts of President and Vice-
President of India has to tender ?

(A) Rs. 25,000

respectively

(B) Rs. 20,000 and

respectively

15,000

(C) Rs. 20,000 each
(D) Rs. 15,000 each

Which Article of Indian Constitution

mention about President’s power of

pardon ?

(A) Article 52
(B) Article 62
(C) Article 72
(D) Article 82

Financial emergency under Article

- 360 has been imposed in India in

GS-I—A

the year :
(A) 1962
(B) 1965
(C) 1971
(D) None of the above

and 20,000

22

51.

52.

53.

Who was Talugdar .v

(A) A small cultivator

(B) A large landlord

(C) Who an.mmmm religious shrineg
(D) Who collected the Jaziah from

people

Which Congress Session supporteq

the Swadeshi and Boycott
Movement .mon Bengal in 1905 9
(A) Calcutta

(B) Belgaum

(C) Karachi

(D) Benaras

Who chartered the ship Komagatu
Maru for taking We® Indians to

Vancouver ?

(A) Hardit Singh

(B) Mohammad Barakatullah
(C) Ram Chandra .

(D) Balwant Singh

48.

49.

mo._,ﬂﬁm.imﬁ&mw%%

ﬁa%gﬂmmﬁg%wxﬂ
EERICI R o gue———
ﬂaﬂ%m_&wV

(A) ;T 25,000 T 20,000
(B) F¥1: ¥4 20,000 T 15,000
(C) 20,000 ¥ wm
D) 15,000 T wem

ﬁiﬂ_%ﬁmﬂﬂaﬁ%ﬂmdﬂ%
T 49 TH H WEEH ¥ 2

(A) 3T=R 52
(B) AT=% 62
(C) ¥rg=eR 72
(D) IT=R 82

i fofta e @y e 2
-(A) 1962
(B) 1965
(C) 1971

(D) T F ¥ #E &

52.

GS-I—A
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53.

51. AGRR FA 941 2

(A) T DT T
(B) TF w1 “HIAR
(C) <t fiiss T I e w @
D) =t & ¥ i agE ww@

forg 3w AfuaT™ A 1905 3. § 9w
3 Ryl a1 IfEEHR AR T F1

-gmga fwa ?

(A) FEHA
(B) o™
(C) =u=t
(D) [RH

IR 1 GHeR | 9 & g HmEm,
wE e e ol W faa ?

(A) wfw foe
(B) TR qhqeAE
(C) =%

(D) wo== fug

P.T.O.
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55.

54. Consider the following Governor-
Generals and arrange them in

chronological order by choosing the

correct code :
()  Lord Lytton

(i) Lord Curzon

Gii) John Lawrence

(v) Lord Dufferin
‘Codes :

@ O G G G
B) @ @ @G GD)
© G O G G
D) G G G G)

The President of Eu.m Moderate
faction of Congress Session in
Lucknow (1916), who welcomed
Tilak and his supporters back into

the Congress, was :

(A) Ambika Charan Mazumdar
(B) Annie Besant

(C) Abul Kalam Azad

(D) Lajpat Rai

GS-I—A
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57.

58.

56. Asa compromise with the planters,

Gandhi agreed that they refund the
money they had taken illegally from
the peasants. What percentage was
being refunded by them ?

(A) 156%

(B) 50%

(C) 75%

D) 25% .

In whose Viceroyalty, Gandhi
launched the Individual Satyagraha
and the Quit India Movement and
the Cripps Mission arrived in
India ?

(A) Lord Irwin ,

(B) Marquess of Linlithgo

(©) Lord Wavell

(D) Earl of Wellington

Who says ﬁrwﬁ if the religion does

" not sanction social reforms, it should

be changed as it is man-made ?
(A) Gopal Hari Deshmukh

(B) Swami Vivekananda

(C) B.G. Tilak

(D) Dadabhai Naoroji

B TR I FiermAEn ot
Hife

@ <€ faem

(i) = =R
(i) H

(i) <R swim

S RE

RGN O)]
®
€y G

D) c“mw

55. HUE ® Epmm.wmﬁuﬂgﬂ
T W < & frm sy Yt an
T T W e § A e 2

(A) = = TRR
B) T W=
(C) EE HeH AR

D) TeUd T

GS-I—A

54. ﬂﬂﬁ%.iﬁﬂmﬂﬂ&mﬂﬂ@ 56. SITA-HIEE & T4 TR & d |

e A T B Fr Y
sy T o8 St ® T v
=\ I g0 T vfow ofn amw
e @t 2

(A) 15%
(B) 50%
(C) 75%

D) 25%

57. &g aomE & W T Y i
TR T W D AeeE 3E Y

dm frm AT 9 w2
(&) e e

(B) TR Aw femfaom
(©) =& ==

D) ot sitw Afeae

%
(&) TR =W s
B) W faawmH=
(€) R Tow
D) T Ak
25 _,

58. TUg W wedl & f& U ud wEites
TU T T T @ T, NI R_]R
T ey, Fife 98 9ra g Wea

P.T.O.
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69. Which theory/concept on the “Origin
of Monsoon” states that the
‘monsoons are produced due to
differential heating of continents
and ocean basins’ ?

(A) Dynamic concept of Flohn
(B) Thermal concept of Halley
(C) Jet Stream Theory

(D) Air Mass Theory

60. Arrange the following soil types of
India from high to low in terms of
percent share in total area :

(@) Black Soil

() Red Soil

(¢) Laterite Soil

(d) Desert Soil

Select the correct code :
(A) (a)—b)—c)—a)
(B) (@) —(c)—b)—a)
(©C) ) —a)—d)—c)
D) &) —a)—c)—d)

61. Which of the following is the largest
tribal group of India ?

(A) Bhils
(B) Gonds
(C) Santhals
(D) Tharus

S 1A

62.

26

63.

Which of the following pair is not

correct ?
(A) Kalbaisakhi—West Bengal

(B) Mango Showers—Karnataka
(C) Blosson Shower—Kerala
(D) Norwester—Haryana

Match the forest types with their
percent share in total forest cover

of India :
List-I

(@) Tropical Evergreen

() Subtropical

(¢) Tropical Moist deciduous

(d) Tropical dry deciduous
List-II

@ 37.0%

(it) 28.8%
(i) 12.1%
@) 9.5%
Select the correct code :

@ ® © @
@ @ G G @
® G @ O @
© G O G G
O ) G @ 6

569.

.Jﬁﬂ_,mﬁ_ Y Teqfi o oFwm faga | 62, A= H R W d_de_ wi et k2

AU T ¥ o "R e
a?d~§§4ﬁ§%%ﬂ%
Mﬂﬂa—ﬂﬁﬂ@w#. ?

SIS N Sp—
B) ¥R * i sy
(©) ¥ ©m fagiq

D) a1 7w oz

A % Freferten frg) o e = wen

| T 7% et wHifw .

(@ == fud

) o= @

() R W

@) F=m gz

T T Foww wf
&) (@ —b)—c)—d)

B) (a)—e)r—b)—d)
(C) (r—a)y—(d)y—(¢)
M) B> ~a)r ) —d)

61. TH A TR T W WA T

T I TR ¥ 2
A) &

(B) Tie

(C) dum

D) uE

GS-1I—A

(A) FTEAHTE —afram e
(B) M WHl—FAz®

(C) =itaq T -

(D) tder—efamm

63. VG & ®A o9 faam | a5 % wwd
w Ih ufarE T® ® wu Aw

HfwY :

-1
(a) SorHfead™a wEERR
(b) AeERfead

@ 37.0%
- (i) " 28.8%
@) 12.1%
(iv) 9.5%

@
@ O
B) @) ()
© @ O
M) Gy ()
21
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(d) SwuEfadE e ot
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64. Which of the following pair does not
match correctly ?

(A) Mahim Bay—Maharashtra
(B) Kori Creek—Gujarat

(C) Mal Bank—Gujarat

(D) Point Calimere—Kerala

65. Match List-I and List-II and select
the correct answer from the nommm,

given below :
List-I

(@) Cape Leeuwin .

(6) Ozark Plateau °

(c) Katanga Plateau

(d) Kamchatka Peninsula
List-IT

(@) Russia

@) United States

(iii) Australia

(iv) Democratic Republic of Congo

Select the correct code :

@ ® ©@ @
@ G G G 0
B) G G @ 6
© O G G G
O GE) G @ (@)
GS-I—A

L >
{ . i A
c6. Match the fl1oVi" il regine 6% Mwwwﬁi S wh ¥ o | 6. Mﬂmﬂaﬂﬂw mﬁﬂpﬁﬁﬂ%ﬂﬂ w
cor which it is T8 . 0 fer 4 .
.E,._ | (B) P Frw—Tm @
(@) O«:‘Emm.. { (©) == .um...ldﬁdd 55 .ﬂﬂ.ﬂdﬂ
) Kalgoorlie A T D
(© Salobo " e Gl A
(d) Haerwusu - 2 U T TR W W@ wW g 9@
List-11 TR A . g=n-11
@ - Coal g @ %BQ
i) Copper (@) =u wfem @) <no-
(iii) Gold (®) ANH WCR Gii) |
(iv) Iron ore (¢) M WBR (iv) = A
Select the correct code : (d) FHAH TEEM & W H TER Y
@ ®» ©© @ HE-11 @ ® © @
@ @@ @ O @ RO @ G @) O G
® o @ ) @ b @) WIR T R ® G G) G Go)
© G @ @O ,ﬂ R © G G O G
O G G @ @ Gv) RN A TR ® G @ @ ®
67. The world’s highest tides occur at ”. W@ WIS F oW HiNg 67, o W S ?.—&mwv e
which of the following places ? Sv. ® © (@ 3 g A W A T 2
(A) Bay of Biscay A) G Gi) G 6 @A) e T
(B) Miami Coasts ® @ @ @ B) fEm =
(C) Bay of Fundy © @ Gi) G G) ©) TE = TH
(D) Ungawa Bay O G () 6@ G Y
28

GS-I—A
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68. Match the following ocean currents

with which they are named :
List-I
(@) Canary Current .
(6) Labrador Current
(¢) Agulhas Current -
(d) Peruvian Current
List-I1

(@ A Sea Coast *

69. Which of the following rivers does
not cross equator, tropic of cancer

and tropic of capricorn twice ?

(A) Mahi

(@) A Country

Gii) A Sea

(Gv) An Island

Select the correct code :

@ & © @
A O @@ @ @-
B) G @ @ O
©) Gv @@ @ @
D G @D O @) -

GS-I—-A

(B) Negro

(C) Limpopo

(D) Zaire

70. Which of the following pair does not

match correctly 7

(A) Malacca Strait — Andaman

Sea.

(B) Yucatan Strait — Caribbean

Sea
(C) Sunda Strait — Gulf of Aden

(D) Bass Strait — Tasman Sea

30

68.

qei-1
(@) .%.r.u_.m_..q Etind
®) TER Qﬂma

() Y v

HR-11

jﬂ@aﬂ.ﬁﬂ.ﬂ "
IR Y Ty iy
69. Frfafed # ¥ Frmd =& vmeten,

®

@0

TF R T

TF W

() TH 9

) T Fr

TR AT w9 FAC :
@ B © O

@ 6 G G G

® G @ @ O

© @ G @ O

o @ G O G

GS-I—A

HH @ AW AR W W QW IR

& ¥ ?
(A) =
(B) =
(©) fa=i@
(D) S
70. = H ¥ IR SR W Yw T
T ¥ ?
&) ﬂﬁaﬁd@nﬂnﬁlﬁnﬂmﬂﬂ
(B) TR TASHENE — T W
(C) GA1 VoeHETd — TEA ® @il
(D) oW TASHERHA — TR W

31 P.T.O.
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71.

. L. ..
Which one is incorrect regarding

sustainable development ?

(A) The development that meets the
needs of the present without
compromising the ability of
future generations to meet their

own needs.

72. Sustai

nable Development Goals and

targets are to be achieved by :

(A) 2020

(B 2026

(C) 2030

(B) Economic development refers to

the flow of goods and services (D) 2050

in the economy for a long period o

73. Which one of the following 18 not a

of time only.

(C) 1t is the practice of m@&%.:..m part of the strategy of direct attack
5 o

land and construction projec M ?

in a manner that reduces their

impact on the environment (A) Integrated Rural Uo<&ov=5=n

by allowing them to create

Programme

energy efficient models of self-

sufficienty. : (B) Family Planning Programme
(D) To conserve natural resources

and to develop alternate sources (C) National Rural Employment

of power while reducing Programme

pollution and harm to the

environment. (D) Jawahar Rojgar Yojna

I—A 32

eI

T

71, U T A 3y 3
{ v et ¥ ? 9. war famrm el W our w * o

(A) e =) ffipll @y ol s

YU TR A g D wwghan 60 (A) 2020 %
farm =i A s W g W

) (B) 2026 TF
. aren e

@) st fowm @ arerd Haa wm (C) 2030 T

w Tl swata & fou sdermen #

. (D) 2060 <H
T T % v @ A 0

(©) =% yfa sin frefo ofeiemat 0 | 73, Fefafoa § 3 FR T w @ @

T TR A fowfoa =0 =1 stam

= Trifa W= feem W@ % 2
T vt W waE R

FE TR AN H Tl R

wER 9 F: el @ ¥

D) T W w wA i (B) WfER fEeR wdwEn

THEA & Wmam AR wiR @
Iwfeowm wdl = faem s D) Fa IR T

GS-I—A 33

(A) TEFG T g wEER

(C) T T e, HEFA

= A9

e
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74. Over the years, the government has
been following approacly/es to reduce
poverty in India :

(e8]

Specific poverty alleviation

programmes
(II)  Growth oriented development

(III) Meeting the minimum needs

of the poor.

Select the correct answer using the

codes given below :
(A) 1 and III only
(B) I and II only
(C) II and III only
(D) I, II and III all
75. Poverty Gap reflects :

(A) Gap in infrastructural facilities

" between developed nations and
developing nations

(B) The difference between poverty

line and actual income level of

all those living below that line

(C) Gap between developed nations

and developing nations

(D) Gap between the rich people
and the poor people

GS-I—-A

76. NITI Aayog's Action Agenda for
enhancing digital connectivity mm

based on :

o Um.ﬁu__ovwsm software for
sorvices that can be provided

digitally

(II) Enhancing digital infra-

structure
(III) Empowering citizens digitally

Select the correct answer using the

codes given below :
(A) 1 and II only

(B) I and III only
(C) 1I and III only
D) L, II and III only

77. Which of the following is not
an indicator of economically

‘underdeveloped countries ?
(A) Low per capita income
(B) High rate of population growth

(C) Low proportion of labour force

in the primary sector

(D) High level of illiteracy

34

e S

E
=
ﬂﬂ@%ﬂﬂ?ﬂ wra { e | 76, fefiea TR R wmn @ fag A &
W Y ) m I AT F TREA e i@ ¥ - m
® R T8 ey (O < ds % forg iz st 2
D3O
an i - ﬂﬂﬁwMﬁﬁﬂwﬁmwﬂ g\g\w
. W W oyl

I o ) = e 1 0 xﬂ@m
w) an fefree SwemR = @ &Wm ]
2 3

3 fy

T W I T W (I et = fefves w1 @ W ﬂ;ﬁ

(&) 1 3R I B R Ky ™ AR W IEn W@ MWWM
B) 1 3R 11 Faq IW FH : ) /ﬁm
©) II 3R I S (AY 1 3R 11 w9« ‘ «@
M) L, I iR 101 (B) 1 3R NI Haw Wﬁ

5. %ﬁaﬁﬂﬂﬂmﬂﬂw
(&) fofon & o o 29
F WA ST g 3

W

(©) I 3 111 e
O 1, II &R 111 sa4

77, F E R A i R st

(B) T Y@ ok W @ B AR ﬂ%ﬁﬁjﬂu&w ?
T W A aRaaE o @
W T A

(©) frsfam i it forraiar T
® WA IJRN

M) R At R W A & W
W

e st 0 T

&) = vfa == s

(B) SWEm gfe ® =

(C) wufms 3 T W s = FW
@‘Hﬁﬂ

D) e =1 359 '

SETI—A 35 PT.0.
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- #
W \
Y |
q . . the year of |
w 78. What is/are the objectives of | 79. Which year3s known as
Competition Commission of India demographic divide ? ,.
(CCI ?
(A) 1901 "
(I) To ensure freedom of trade M.
11
carried on by other ® 19 . M
participants in markets in (©) 1921 M
India. ,
- (D) 1931
(II) To protect the interests of M
. ility rate is : '
consumers. 80. The total fertility ﬂ
3 i ,
(III) To promote and sustain (A) The birth of women divided by m
competition in markets. the total female .ﬁovimﬂon ,.
|
(IV) To prevent practices having (B) The number of births divided ,M
an adverse effect on : . A
by the total population
competition. ) b
Th mber of children a
Select the correct answer using the © ¢ nu : ”
codes given below : woman will likely bear in her ,
(A) I, II and IV only lifetime ”
(B) I, IT and III only (D) The births to women of a given -
(C) II, III and IV ob_.w age divided by the total number
(D) I, II, III and IV all of women at that age
g
GS-I—A 36

GS-I—-A

| N e B

N ﬂﬂﬂg,ﬁ&foocmwmwﬁ 79. &g ad = WOfeEmE s S 1d RS
R E RS e )
I . : B 8
D @ o § ey it (&) 1901 Ww.ﬂﬁ
.. P
"= A (B) 1911 Wm.(&
e =0 3 farg I.M s
(©) 1921 = A
D STt & fedi = xem e -2
D) 1931 W By
(I11) mﬂamaﬂﬁ&ﬂmﬁﬁ% %ﬂ
; . 80, H{HA W W ¥ : W&.
ERILS @y c3 g_ ,F%
| (A) mheenell & S W wm e | 3
(V) Wi = i g ooy | - &

SICIIC IR CE IS T
T Tl W A R faw

: (B) ¥ sEen /A faufve w=t =)
=R wE W s e v

SW MY

&

ﬁogﬁﬁﬂﬂwmﬂﬁ,ﬂgﬁ&

A I, II 3R IV S99 .
Wewa § a0 = dve
B) I, 11 3R I Sag _ .

D) Ff @ ™ m N afemst
(C) I, I 3R IV ®aw :

S, W W H ufeemd W ww
D) 1, I1, 11 &) IV usf Ten ¥ fauem

31 PTO.
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24;, . TS S 7z ol .l T, —
N\ \/J@@@%ﬁ% N 2 u’hdvﬁ..‘lhr!hr S AT D L s~ ——
o . following concen- w 81. U= @ f
81. The National Food Security Mission | 83. Which of the . brect i M TR H wMﬁ FARFFAF | o e 9 T AR W fefefes gen
(NFSM) aims to enhance the trations of Ozone in ambl - \ ¥
. ) F @ S o= TR TR ¥ 2
production of : considered g00d ? 4 @O =
(I)  Pulses ‘ 0.08 pth P an afswt (A) 0.06 AL IS
(D Vegetabl (&) upto 0:00°P M
goranies m (1) == qriT T
(III) Rice (B) upto 0.18 PP av) (8) 018
(IV) Wheat 0.15 ppm ) - ’ (C) 0.15 WA TH
(C) upto PP P —
(V) Fruits

Scanned b Scéner

(D) upto 0.20 ppm
(VI) Coarse cereals . VD) " s

intensity of a mnormal

D) 0.20 WA TH

84. ﬂ%ﬂa&aﬂg%m
= 4 fred 9= wh R 2

Select the correct answer using the 84. The

TR R T R o e
W FHT :

codes given below : conversation in decibel is between :

(A) I IL III and IV only

i
*
, (a) 30-35 , (0 L, T, WIS TV oo (&) 30-35
(B) 1, I1I, IV and VI only o m ® L HHH,. IV vy ‘
(C) I, IV, V and VI only : | (B) 60-80 i
: . © I, IV, V ¥ VI dam .
(D) III, IV, V and VI only (C) 385-60 m i (C) 35-60
(D) L, IV, V sit VI @ ) 86
82. Which of the following schemes (D) 70-80 . m .
aims at creating 300 rural clusters : . e 82. Tr=fafed § ¥ S G wrftor &= (D) 70-80
across India to strengthen financial, | 85. The impacts caused by construction ,. # forra, Aot i herdeh ghens N .
: . ciun 2 e B . . 85. =l i el % fmin & wawes
job and lifestyle facilities in rural of dams and reservoirs include all, A T D few ARG R H 300
areas ? o T FET 9 6 9 @ w2 ﬂﬂd&dﬂdﬁﬂdﬁw.ﬂuﬂﬂ”

(A) Standup India . ] ] .
(A) loss of flora and fauna (&) W sfem (A) sFEfEdl AN Sal & T
(B) Deen Dayal Upadhyaya

(B) €9 TUI@ INEAM™E UHU HETA

e TV AT

Grameen Kaushal Yojna (B) reservoir induced seismicity (B) VoW ETHEdl
(C) Shyama Prasad Mukherji .
ter b d C) Vo S
Rurban Mission (C)"iwatey bgrme, C1Eeasee ﬂ (C) @™ WO qEst o HYH ©
(D) Skill India (D) desertification m D) e ifem (D) TR
GS-I—A 38 GS-I—A 39 . P.T
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86. Which of the following processes
does not oceyr in the water cycle ?

(A) condensation
(B) infiltration
(C) evaporation

(D) composition

87. Match List-I and List-II and choose

the correct answer from the codes
given below -

List-I (Events)
(I Appiko Movement
(II)  Narmada Bachao Andolan
(ITI) People for Animals

(IV) Resurrection of Kali Bein
Rivulet

List-IT (Names)
(i) Maneka Gandhi
(1) Appu and Mamtha
(zi7) Balbir Singh Seechewal
(iv) Medha Patkar
Codes :

I dan dm av)

@A @ @ G G

B O @ (o) (@)
©  @v) @) @ 6

O G G O G

GS-I—A - 40

88. Match the items given in Column-
1 and Column-II and choose the
correct answer from the codes given

below :
Column-I

(P) The Montreal Protocol

(Q The Paris Agreement

(R) The Rio Summit .

(8) First UN IPCC Conference
Column-II

o 1002

@) 1995

(i) 1987

() 20156 &

Codes :

®» @ ® ©
@ 6 @ @ G
® @ G O @
© @) @ ©. 6@

O @) ) GG 6

T
m——

88. -1 3 YH-11 F frrerm wifor, wen

(A) Wit TR R T TR W e wd
(B) st smic I AR ¢
(©) ElisiET .dxlaw-lﬂ
D) H=m
. (P) A=Ed Nawta
87. Th-1vd -1 = e S :
ﬁmﬂﬁﬂpﬂﬁsﬂ%& Q @ Tt >
® fo W &
AT (v L)
O sfom ©® T ARG A ¥
D T T v -1 i
(1D S8 ®R e _
= . @ 1992 J
V) T sitw i 2 frope | ,
TR () @) 1995
@ T W (i) 1987
W 593 W | () 2015 :
(i) STER Tz dam
(iv) AW W E
T ®» Q@ ® ©
@O @ aan av A @ G G Go)
A @® G G o
D@ @ G ® @ G O G
B O @ G G
©) @ @ G 6 © E o) s 6
@ @) @ O G O  Gv) @) G 0
GS-1—A . 41 PT
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89. Which of the following is 10t derived

90.

from wild cabbage ?
(A) Brocoli

(B) Cauliflower

(C) Kohrabi

(D) Spinach

Which of the following scientists is
associated with the theory of natural

selection during evolution of life ?
(A) Mendel v

(B) Darwin

(C) Haldane

(D) Miller

91. In which of the following conditions

bio-gas is produced ?

95 Presence of oxygen

(B) Action of aerobic micro-
organisms

(C) Action of anaerobic micro-
organisms

(D) Presence of fertilizers

GS-I—A

42

92.

93.

94.

SGTERSWY g asmmsmmmm T

Why do ventricles have thicker

q ?
muscular walls than atria !

(A) Ventricles receive oxygen-rich

blood than atria

(B) Ventricles have to pump blood

into various organs

(C) Atria have to pump blood into

various organs

(D) Ventricles first receives blood

from the various organs

Which of the following is- not a

reflex action ?

(A) Breathing

(B) Heart-pumping

(C) Salivation

(D) Movement of hand

Which part of the brain maintains
posture and equilibrium of the
body ?

(A) Fore-brain

(B) Mid-brain

(C) Hind-brain

(D) Spinal cord

89.

90.

91.

(D) UrasH

et 4 e e < o

wﬁmﬂ&ﬂn@aﬂmﬂﬁg
F IR0

(A) %=w
(B) =
(C) w=M
D) few
e & f oot 3 1 e

B R 2

(A) 3RiH 1 sufafy
(B) Wfsw gausial &1 wraw
@gﬂﬁ&&%g
evmﬂﬂ%ﬁg

QM|H|>

~

92.

93.

94.

43

dfren # W Fogen A Wh F

St @ w= adt § 2

(a) dfewca | e F: gad q
sitafor TR TR W E ¢

B) Sfewea F fafi= o 4 w1 99
FO U &

(C) Wz = fafs= i A & T H T

TS ¥
(D) dfcwea gad wedt fafy= & 4
T e Hl §

frfafan § @ 99 TF wed A
(reflex action) & T2

(A) ="
(B) 3@ 99

(C) =R

(D) B9 @ feor

ARG N BT W AR F AT
HIer A @@ ¥ 2
(A) I-wieh
(B) weA-Hf&Tsh
(C) uv=-ufess
D) e =1 =&
P.T.O.

Scanned by CamScanner




LY

4
m 95. What is the color of Litmus | 98. Which of the following does not
N” solution .érmn it is neither acidic represent refractive defect of
¥ nor basic ? vigion %
| (A) Red (A) Myopia
B) Yellow (B) Hypermetropia
(C) Blue (C) Presbyopia
(D) Purole (D) Cataract
96. Which of the following statements 99. During dispersion of white light by
s 55t coriact 9 the glass prism, which of the
following light of the spectrum bends
(A) All bases are soluble in water :
the most ?
(B) All bases do not dissolve in ( g.wwcm
water
(B) Violet
(C) An alkali is a base that
(C) Indigo
dissolves in water :
(D) Red
(D) Bases generate hydroxide
(OH) ions in wate 100. Which of the following phenomena
r
is responsible for twinkling of
[ } . ﬁV f
97. What does ‘p’ represent in pH ? stars ?
(4) Potential (A) Reflection of starlight
(B) Property (B) Refraction of starlight
(C) Power (C) Dispersion of starlight
(D) Potenz (D) Tyndall effect
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A) o=
(A) wEfE
(B) dven
(B) TRTRAfa@
(C) e
Q) Y=
D) S ©
D) AfTaisg

96. gm@&ﬂﬂﬁd@a@
%7

99. T frew TN AW VEW ® @ ® § =t

& Trafafer 3§ ¥ S W\Ww\.
A =

(&) TN 4T (bases) T # e A %Weﬂ

. .mw

®) uft yrm (bases) drit H & ) ey NM
; S

e & (B) TERE Dy

(C) T ¥ TH &RF (base) & W T (C) stem Wm

j Ein)] :

(D) ¥RFR W@ | TEglEms (OH)
I IO FWQ %
foafomee & fau foeer £ 2

(A) VSR & wialsd

a
100. frafefiom & 4 B9 T @ W ,ﬂ
4

97. Wew () § @ & 2

(A) FH@
@,msi (B) Ve & U
(©) TR (C) Rraie w1 ham
D) M= ® feea wE
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